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% R R - RARTiE B % 8 B ® #8 =
EEAEE 5,275, 092
HEE 5,275,092 x 70.9% — 5,132 3,734,908
REEEE 5,275,092 + 3,734,908 9,010, 000
B R 9,010, 000
HERMELEE 9,010,000 x 10.00% 901, 000
HEXHE 9,010,000 + 901, 000 9,911, 000
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£ 5 R - BARTR B 2 i & # &
EiElEE 5,275,092
REREEHE 5,275,092
TARYBEERRHAEREER 5,275,092
TARYBEERRHAIEREER 163, 750
BEITEE 163, 750
1 HEiTae (EHEEFH) 1.00 56, 450 56, 450
[a
2 BETEE (hETER) 1.00 50, 850 50, 850
[a
3 BEBITEE (LR EIAR) 1.00 56, 450 56, 450
[a
FTARYBERBRBAERE (SFT) 3,201, 000
FTARY ERFRHAE 1,642, 200
4 R ERZRHEIED BRERZZEA R/W3, 000m 6. 00 141, 900 851, 400
[a
5 IR ERZREEIEQ BRERZ=EB R/W2, 700m 6. 00 131, 800 790, 800
[a
FT—AEYFLED 1, 558, 800
6 T—REYFELEHD ARERA (6), B(6) 12.00 129, 900 1, 558, 800
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% L] R - RARSTE Bify % 8 B ff ® # wm =

E#EEE 1,910, 342

REXBE 42, 346

1 REXEE BEITEE 1.00 3,162 3,162
=

8 REXEHE REEH (54 bAVE 1.00 39,184 39,184
=

BEFHERIERE 81,000

9 BFREMERE BEREER 1.00 81,000 81,000
=

ZDihiEE 1,786, 996

10 Z0fthiE#E WHEE - EEERICHYT 2BRERIR (SFTEM) 1.00 1,786, 996 1,786, 996
=
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51
2 BEEITEE  (EBETFHE) 1EH-Y
£ b g - BIRTE By = il %8 5 &
Bl EFHEm
A 0. 500 60, 600. 00 30, 300
I E AR
A 0. 500 52, 300. 00 26, 150
= it 1YEZHER - 1.00[E 56, 450. 00 56, 450
FEEESEE AL
FHE—IEWHE : GTL
5 :2
2 BEITEE (FREITA®) 1EH-Y
2] b g - BIRTE By = i %8 5 =&
Bl EFHE
A 0. 500 60, 600. 00 30, 300
RIS
A 0. 500 41,100. 00 20, 550
= it 1YEZHER - 1.00[E 50, 850. 00 50, 850
FEEESEE L
FHE—IEWHE: GTL
F5:3
& HEEITEE (ESMAR) HEEY =D
2 b g - BIRTE By = i %8 i &
BlEEFHEm
A 0. 500 60, 600. 00 30, 300
I E AR
A 0. 500 52, 300. 00 26, 150
= it 1YEZHER - 1.00[E 56, 450. 00 56, 450
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x5 :4
B FTARYBERFREEED BFHZTAEA R/W3, 000m 1EH-Y
£ [ g - BIRTE BT H = B O(f ® 5 &
I E A
A 1. 400 56, 750. 00 79, 450
RIS AT
A 1. 400 44, 590. 00 62, 426
BME (F59)
= 1.000 141, 876. 00 24
= it 1YEZHER - 1.00[E 141, 900. 00 141, 900
FHEBHESAHE HY  WEARX  BEHEFMEM FrEREREER - [6.00] #IE : [1+0.25a]  FRESLHEIEER - [0.00]  FRESMEREER] - [0.00]  KBLGL
FH—IEWHE: GTL
F5:5
B FTARYBERFRIHAEQ AFHZTAB R/NW2, 700m 1EH-Y
£ [ g - BIRTE BT H = B O(f ® 5 &
I E AR
A 1.300 56, 750. 00 13,775
RIS AT
A 1.300 44, 590. 00 57,967
BHE (F59)
= 1.000 131,742.00 58
= it 1YEZHER - 1.00[E 131, 800. 00 131, 800
FHEBHESAHE: HY  MEARX  BEHEFMEM FrEREREER - [6.00] #IE : [1+0.25a]  FRESLHEIEERA - [0.00]  FRESMEREER] - [0.00]  KBLGL
FH—IEWHE: GTL
F5:6
W T—A2EYFEHD IEFHEABG),B(6) 1EH-Y
2 [ g - BIRTE BT H = B O(f ® 5 &
AR (A)
A 1.300 59, 600. 00 71,480
AR (C)
A 1.300 40, 300. 00 52,390
BHE (F50)
= 1.000 129, 870. 00 30
= it 1YEZHER - 1.00[E 129, 900. 00 129, 900
FEEESEE L
FHE—IEWHE: GTL
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2 REXEE WHETEE 1LY
£ £ g - BIRTE BT H = B O %8 5 &
REXBE 3|
= 1.000 3,162.00 3,162
= it 1E%HEH - 1.00K 3,162.00 3,162
FEEEEE L
FHE—IEWE : TL
&5 :8
2 REXEE ABEE (54 bAVEE) 1KLY
2] b g - BIRTE BT H = B O %8 5 &
REXBE TR ERREEIE
= 1.000 39, 184. 00 39,184
= it 1YE%HERH - 1.00K 39, 184. 00 39,184
FEERESEE L
FHE—IEWHE : GTL
F5:9
2% EFHRRERE HEREER 1KLY
2 b g - IRTE BT H = B O %8 5 &
EFRHREMIERE
= 1.000 81, 000. 00 81,000
= it 1YEZHEH 1,00 81, 000. 00 81,000
FEEESEE L
FHE—IEWHE: GTL
&5 :10
B TOMBE HEREE - E5EMICKHT HEZTRIR (SFTEM) 1LY
2 b g - BIRTE BT H = B O %5 i &
SFTEHE (GAER) NF*H
= 1.000 11, 264. 00 11, 264
BiGEEE
= 1.000 912.00 912
HlRIE
= 1.000 1,774, 820. 00 1,774,820
= it 1E%HERH - 1.00K 1, 786, 996. 00 1,786, 996
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